2] ZIRBE I x & ik i — 1 =
A\ RE L B2 2| 8 | @E 4 B A EE
| AR =X E| @&k t1.0
4 ? MEA— X F|ERno&@R t1.0
L T [EEEE (7] " E & 3 BN A TS B30 &M@ 1.0
TKB-EWRE0 3.3 ERARAL (5. 1x45)--84&
TKB-EWR7/5 4.1 MERL (Mox10)---— 4 e
TKB-EWR90 4.9 |
ET =] 1 - | -
| . | 600,750,900
: ‘ A 116/144/176-66
800/ 750,900 ‘ 582/720/880 (MiinEa)_| 116714
‘ K 450 9.5
450 334 | |
1 \ | A N I -
I I A 3\ ‘ P S L by
! i @ ‘ 500,650,800 o
. B o A ‘ | 8-M5
] > cO = £ [ SSEEGhT
——— o & 3 5 R N N CE S L)
Lf R [ [ R 5 | |
i i ‘T“i S
. | 600,750,900
500/650/800 000 ( AARETE) ‘ 550,/720/880 (BHAHE) 5(%@%4%87%
| 10 \ 9.5
B ® (TKB CWROS)] RS I
| | A -
600//50/900 | ““QFT ”””””””” =
‘ |
450 9.5 |
\ O |
- — — L ————— i ‘ mimm
e | = | 560/700/860 (R REH )
N Y ‘ ~ ‘ 10 o
- | stessrereseserTaTEeEs 4 ***** o ] ! N
‘ o i ! [eos%s = ] J
‘ N ‘ 600,750,900 lo.s5
l | | ‘ | 56/70/86-¢6
| L (BN )
S TRB=EWR90 | T09PGA00 — —
| TKB-EWR/5 109PQ300 — —
) 1. AREEWRY U— XAQRMA— AERY TRB-EWRCO | 109PQ200 e =
2 _LYI7-RORONTCEARAEARDEE D EAR. T B B — g%Tg%EWR6©/7§?g6
3. RBODEEAN - LEFREQOBMAAR—-ATAST15MmEEL TEE. 512012/ 411 ol TE T
R VST VAT 1091 /72
—FUJIOH- strumsan — 575 5| X & 5 &




